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The discussion between two drunk persons. 
First person : Alcohol kills slowly. 
Second person : So what? Who is in a hurry? 

�

Think positively 
Living on earth may be expensive, but it includes an annual free trip around Sun. 
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The discussion between two drunk persons.
First person : Alcohol kills slowly.
Second person : So what? Who is in a hurry?
�
Think positively
Living on earth may be expensive, but it includes an annual free trip around Sun.
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A drunk was hauled into court. 
Judge : Mister, you have been 
              brought here for drinking. 
Drunk : Great! When do we 
               get started? 
Judge :  

What is common about a man and 
candle? 
A man with more fat should burn his 
calories to stay fit. 
A candle even though lean contains 
more fat and thus should be burnt to 
control its fat.�
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Teacher       : Your future depends on your 
                       dreams. 
One student : Grrrrr….. 
Other students : He is strictly following 
                            the teacher’s instructions 
                            and got into sleep.�

An advertisement in front of a 
parachute selling shop says -
“Parachutes for sale! Best 
quality. No one has ever 
complained of a parachutes 
not opening.” 

������������� �������������������������������� ���������������������������������� ����

18<	�2�!��"�
�4��Z�3
��
��Q���0�
�X��3.V�
�"�
���!�18<	�2�����
��
�
p$�
���:��
��
�5�3.'�,�3
��:� �̀��X	�$7�Q��g
MX	�$�q3
��C����
���������1S�*g�
�$0<@�:� �̂M�	������
7��
�$��
1�\�+�
�
�A��
4�"�9r�@�<=HI�
�'�Q���0�[�o?X��3.' 
� �

dHI�.��� �̀�����
�st��
<=5������
�:��
��.�D6B���

asr
�
,%�
���E�	�%�
���P
� �
�������+��
P
˜
��:7�+�%˚˜
��
B�,�
-"6P"˜.�,fIg�
-"�
���C˜
�P"�HIP
��C�3.'�%˚
h
˝
����
�
���	
�
��P
�i�����1��"B˜
�'��
�-
0�:�,%�
���E�	�%�
���P
��<=�˚�%�j<	k˝
��
�7�,�
-"6P"˜.��"˝
T
�"l�$m
6˝��,�
�)˝
1g����4E�˛�
,%�
���E�	�%�
���P
�� <=�˚� %�j<	k˝
��
��! �,X	�$0��,�
-"6P"˜
4��d�˜C���:A�HI^*g��˜2�G3C0P
��<=�˚�
n$˜"0n
˜
E��7��"˝
g˜2��
j#E6�<=%�1�g�
�n$˜"0n
˜
E���˛�`�$�n$˜"0n
˜
E���K˝���
j#E6�<=%�1g�
���
��
��
<	4���E�"B��˝
3"���
�˜.��8��,˜"i�NP"˜
��,�
-"�
��<=HIE˜"V�
,�
-"6�! ��
�$�Q��
�`�1��%�6�K�1�<=�CE�<=��4E�6�	0��,�
-"�
��<=��4E���G�1��3.'�`�$�
,�
�P
��	��"B�
6�U�8��,�
�˝C˝
���'��8��n$˜
0P"˜
��˝
4�"��8��$P��,%�
���E�	�%�
���P
��<=��4E�
G�1$˜"V��"P
�	E��CX2����8�����HI˜
���
�
&��oI��
�˝
���"�<	4���˝C���'�
,%�
���E�	�%�
���P
��<=�˚�%�j<	k˝
��
��! �VVV
������������� �������������������������������� ���������������������������������� �
A drunk was hauled into court.
Judge : Mister, you have been
brought here for drinking.
Drunk : Great! When do we
get started?
Judge :
What is common about a man and
candle?
A man with more fat should burn his
calories to stay fit.
A candle even though lean contains
more fat and thus should be burnt to
control its fat.�
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Teacher : Your future depends on your
dreams.
One student : Grrrrr…..
Other students : He is strictly following
the teacher’s instructions
and got into sleep.�
An advertisement in front of a
parachute selling shop says -
“Parachutes for sale! Best
quality. No one has ever
complained of a parachutes
not opening.”
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